| dE/dx estimator 1 |

0.4F

0.35

0.3

0.25

0.15

0.1

.................

.................

0.05

0.2 reeeriveeerh

- - — Entries 5
s teeeeenioo[ Mean
Std Dev

""""""""""" Entries 5
Mean
Std Dev

................................................

...............................................

Ratio

0.95

o

1 2 3 45 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

Ratio

...................

0.6

0.5

...................

0.4

0.3

0.2

0.1

T T T Entries 5
----- fevessteeoesiooo| Mean 2.975
: : ¢ | Std Dev 0.1225

Entries 5
Mean 2.975

.......................

Std Dev 0.1225

R a1

0.9

V123

425 6 7 8 9 10
dE/dx, trunc40

=== DQM_mkFit_XiMinusPU_retrain2

0.2
0.18
0.16
0.14
0.12
0.1}
0.08
0.06
0.04
0.02

'l"I'I'r'I'1'I'|"I'|'['I'1'I'I"I'|'r'|'1'l'|"|'|'r'I"|'I'I"I'I'r'l'1'l'l"l'|'['l'

-------------- Feeeerentecaeaeacto Mean 9
...........................................................

CTToTeS >

=—e— DQM_mkFit_XiMinusPUold

: |_Std Dev

Entries 5
.| Mean 9

Std Dev

V4],

Ratio
F

=
i i sl A B B L

0.95%

o

10 20 30 40 50 60 70 80

dE/dx number of measurements

ST AT T b

T 11

N CTIaTeS 5
+-| Mean 0.2
: |_Std Dev 0.4

Entries 5
¢ | Mean 0.2

Std Dev 0.4

0.95L

0 10 20

30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


